PR TVASPHNg 2017 Midterm Exam #2
May 25% 2017, |

1:00 am to 12 )
Professor Peter Burke 10pm 1B 003

PROBLEM 4: (20 points)

Name:

The switch in the circuit in the figure below was open for a long time (r

omt=
. ; . 1

-0 till t = 0) and is closed at t = 0. Assume the capacitor 1S completely
discharged before t = 0. Opamp is ideal.

(a) Find the current supplied by the voltage source, is(t) for t > 0.
(b)Find the voltage across the capacitor, vc(t) at t= 2s.
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PROBLEM 2; (30 points)
losed for a long time ‘

The switch in the circuit in the figure below has been clos |
(from t = -co till t = 0) and is opened at t= 0. \
(a)Find the voltage across the capacitor,
(b)Find the current passing through the 1k

ve(t) for t>0. |
Q resistor for t>0.
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PROBLEM 3. (30 points)

The switch in the circuit in the figure below was closed for a long time and is
opened at t = ().

(a) Find the expression of the iL(t) for t > 0.
(b)Find the expression of the current passing Ry, iz(t) for t > 0.
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PROBLEM 4: (20 points)

The switch in the circuit in the figure below was open for a long time (from t =
-0 till t = 0) and is closed at t = 0. (}A,s,s_ume\the capacitor is completely

_discharged before t = 0. Opamp is ideal.
(2) Find the current supplied by the voltage source, is(t) for t > 0.

(b)Find the voltage across the capacitor, vc(t) at t = 2s.
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PROBLEM 4: (20 points)
The switch in the circuit in the figure below was open for a long t.ime (from t=
- till t = 0) and is closed at t = 0. Assume the capacitor Is completely
discharged before t = 0. Opamp is ideal.

(a)Find the current supplied by the voltage source, is(t) for t> 0.

(b)Find the voltage across the capacitor, vc(t) at t= 2s.
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PROBLEM 2. (30 points) +agoea

- $000.

The switch in the circuit in the figure below has been closed for a long ti&nlle 40,—:"?

(from t = - till t = 0) and is opened at t = 0. \;‘;”rjl\m- =
(a) Find the voltage across the capacitor, vc(t) for t > 0. x gl o)

(b)Find the current passing through the 1k resistor for t > 0.
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PROBLEM 2: (30 points)

The switch in the circuit in the figure below has been closed for a long time
(from t = -oo till t = 0) and is opened at t = 0.

(a) Find the voltage across the capacitor, vc(t) for t > 0.

(b)Find the current passing through the 1k resistor for t > 0.
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PROBLEM 3: (30 points)

The switch in the circuit in the figure below was closed for a long time and is

opened at t=0.
(a)Find the expression of the ip(t) for t > 0.
(b)Find the expression of the current passing Rz, iz(t) for t> 0.

R,=3Q 7 () 24 v | i1 (F) 0,
y /%
i,(t)| 3€E
t<0
T L= 0

Scanned by CamScanner



/ EECS/CSE 70A Spring 2017 Midterm Exam #2  Name:

May 25,2017, 11:00 am to 12:10 pm ID no.:
Professor Peter Burke

PROBLEM 2: (30 points)

The switch in the circuit in the figure below has been closed for a long time
(from t = -co till t = 0) and is opened at t = 0,

(2) Find the voltage across the capacitor, vc(t) for t > 0.
(b)Find the current passing through the 1kQ resistor for t > (/
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